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2.3 Find the electric field a distance z above one end of ¢ p
a straight line segment of length L. (Fig 2.7) that carries a
uniform line charge A. Check that your formula is

consistent with what you would expect for the case z >>
L. -
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2.4 Find the electric field a distance z above the center of a

square loop (side a) that carries a uniform line charge A (Fig 2.8).
[Hint: Use the results of Ex. 2.2.]
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2.5 Find the electric field a distance z above the center of a
circular loop of radius r (Fig. 2.9) that carries a uniform line

charge A.

Figure 2.9
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2.9 Suppose the electric field in some region is found to be E =% r3 £,in spherical coordinates (k is
some constant.)

a. Find the charge density p.

b. Find the total charge contained in a sphere of radius R, centered at the origin.
(Do it in two different ways.)
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